N Choose the most appropriate articles to fill in the blanks, where applicable:
Itis____ pleasure to do business with such ______efficient organization.
(A) %% an . (B) x,the,an
(C) a,the,a ' (D) axan
(E)  Question not attempted
2 Choose the most appropriate option to fill in the blank:

student in the class passed the examination conducted in the month of April.

(A) None (B) All
(C) Every @ Very
(E)  Question not attempted .
3 Which of the following does not feature in writing a Notice? Choose the correct option.
(A)  Agenda of the meeting (B) Signature
(C) Time, date and place (D) Minutes of the meeting

(E)  Question not attempted
4\ Which of the given options will complete the given series?
e faw o ot o & @ R e s ) g e

gfe 4 igf eii gfei 1 gfeii
(A) ldfgie } B) eifgi
(© figie ' (D) ifige

(E) Question not attempted / TR TH

o
figures.
fow T el § A T SATHRT T T LS AR G STHAT GRT T Soft hr TR @t
Problem figures / ST TSIl : ‘
P ==
A
i ii iii iv

N

e
(A) 42 B)

V
Po
— | —
(> §
%) Z ®) M
(E) Question not attempted / Naﬂﬁ?rﬂﬂ |

RI5S] &) 2

Select a figure from amongst the options which will continue the series established by the four problem

[ P.T.O.




—6. A man is facing North - West. He turns 90° in the clockwise direction and thep 135° in the anticlockwise

direction.Which direction is he facing now? Mg g 3

(A) West (B) East 5> 7
(C) South . (D) North q. 3

(E)  Question not atteffipted

@W%%Wﬁmﬁéﬂtw%mgm%l e afiorTard feerm(areiien amee) ¥ 90 aﬁra%mamﬁﬁw
argsT) fewm d 1350 m%mag%qﬁmﬂwm%@m%?

~A) i C® W 3
©) R LI D = :2
B) Agaiausy s ‘
\7\ 32 students are sitting in a row facing towards North. If Nehal is 14™ from the left end then what is her
position from right end%j <!
32 foramoff s fy aﬁtu@mgqqmuﬁsﬁé%%mﬁﬁ'ﬁm&@t% 143 S 1 & A e e S
(A) 20 =

® 17 ‘E‘S‘i———# 18
v d

4©) 18 ~D) 19

(E)  Question not attegted / rgaia vy

H
8 Oils on treatment with hydrogen in the presence of nickel catalyst form fats. This is an example of
(A) Oxidation reactlon (B) Addition reaction
(C) Substitution reac&gn - (D) Displacement reaction [08)
(E) Question not atteiipted (s o]
ﬁ%maﬁmﬁuﬁ‘ﬁﬁaw m@m%mwmwwm%ﬁ o'lml, Th I2TE0T @)
(A)  iirdteror srfrfspay (B) ATienss I1RIfRaT =
(C) wioerdt W D) e sl ‘lf)‘
(E) gaiayy : . }
TS89  Which of the following statement is/are true? )ﬂgy}u ! éz ( y
a. Metal omd@& are acidic in nature. —_— g
b. Non-meta‘ljg_g oxides are basic in nature o0
Select the most appropridte answer from given options: N
A *
(A) Neitheranorb i (B) Onlya )
(C) Both 8 and b ﬂ (D) Onlyb l‘-_f_‘?
(E) Question not attempted
e f & B 9178 e g 2% <
a ¥ SiEs, vk swcla AR § sy
b. AU % eSS, opid § AT B9 § a
#3 R R 5 a@if:)a;wg?ﬁw T <
#b (B) Facia i
(A) TMaIRATED -y -
faalRb W) (D) aelb
() 3ta — v
() ogarasd ,
RIS] @ | [Prg,




A greenish coating that develops on copp

(A) Copper nitrate 5

er utensils o0 being exposed to moi

(B)
D) Copper sulphate

st air is due to the formatio

Copper oxide

(C) Copper carbonate
(E)  Question not attempted
T e Y o - A A g T R ) FH FAR a8 o I A I
(A) AL (B) UL ATHES
(C) HWFEME D) T ATHS
(B) i@ ys
W Pt i i et @ s I - |
(a) fafr-few (B) GA-EH
(C) TR -S™ o @) fafir- stEeRR
(B) Igaiaws
12 Sryfefe TeErEr q R R TE TEE
A) fadfmt @) P
Cc wWB (D) @I
(B) aRaws
13 Creforfiad o w9 % Saia Te AT
(A) HTETE @®) e
(c) ukaa (D) A
(B) IaRa A
~44 In Rajasthan, what is the amount payable every month to unemployed educated girls under ‘Mukhyamantri
Yuva Sambal Yojna’ ?
T TS ° ‘Wgﬂ#ﬁm’%maﬂwﬁrﬁﬁaﬁﬁmﬁaﬁuﬁmﬁﬁﬁﬁuﬁﬁq@
Choose the most appropriate option from below: )
foer i & e 9 T T: ‘
~A) 74,500 (B) ¥ 3,000
(C) ¥ 3,500 (D) T 4,000
(E) Question not attempted / STTART T
\1{5 Which of the following projects of Rajasthan provides hydroelectric power?
(A) Uchha Dam (B) Mahi Bajaj Sagar Dam
(C) Jawai Dam (D) Swaroop Sagar Dam
(E) Question not attempted
T 3 3 ot GRESHT STCHE TR YaT it 7
(A) TS (B) W SIS UK Yy
(C) SEEsT (D) TRT TR Y
(E) gafayd
16 Digilocker is a flagship initiative of which Ministry?
(A) Ministry of Commerce and Industry P .
(C) Ministry of Finance ((i)) 1;;:21:3 z; Educa“?n
(E) Question not attempted lectronics and IT
fefreiiaRt firg sier 1 yE T &7
(A) IO T SERT HATAT :
© s . mmm |
(B) uRawH T AT & virerg
R15] &) 4

(P.T.0:
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17 Where is Rajasthan Atomic Power Station located?. -
™~

Choose the most appropriate option from below:

(A) Rawatbhata (B) Suratgarh
(C) Baran (D) Jodhpur
(E)  Question not attempted
TSTEIT YTATY] Sott RV Sl R 27
5 @ e g oo g |
(A) TFavTRT B) @
© =w D) SR
(BE) Sgai@usy : o
I8 Aloss of 25% occurs on selling an article for ¥ 1,800. What would be the profit percent if the same article 1S
sold at ¥ 3,200?
THARI AR 1,800 F I 25% Hr o a2 w&wmaﬁr? 3,200 3 ST ST B @Y AT T ST T B
& 3319 ® 2% dny? rv;z"
©) 35% D) 30% G ‘ﬂox‘ ‘03 Yo
(E)  Question not attempted / IFaRa 1% Ieng Az;’*‘ X7t . L%\-’Zt nZ *i/
19  The diameter of a garden roller is 2.8m and its length is 4m. If it takes 5 revolutions in 30 secondsﬁhen héw S
much area will it cover in 5 minutes?
(A) 1540 m? / (B) 1760 m?
(C) 1440 m? (D) 1860 m>
(E) Question not attempted
o TS U T 19 2.8 Hiet 3R oaTs 4 Hiex ) afe ag 30 Q30 i 5 TRGHIOT U AT B, 4t 5 fre 9w R
QT qF HUM? _
(A) 1540 T @ B) 1760 e
(C) 1440 H2? : (D) 1860 e
(B) Iaiayd
20 %+%+%+ ...... is equal to -
2 S
@A) € " B) e
©) 2e © =

(E)  Question not attempted / ATANT T4

21  The perimeter of an isosceles triangle is 32 cm and length of each of the equal sides is 3

2 6 times of the |¢
of base. What is the half of the area (in cm®) of the triangle? ngth
mﬁa@ﬁﬁiﬁqﬁmqnﬁtﬁ%aﬂtmmqa@ﬁmmaﬁmw ’WIT%
me(ﬁ"ﬁzﬁ)wﬁo n (N2 lﬁ%%ﬂ“
(A) 24 (B) 38 3T
© 42 (D) 48

(E) Question notattempted / Jrdid T4

Ri5) @ . S

[P1qg



22

23

~25

R15] @ 6

h

Aja

Jjay mvested a total amount of 10,000 in two types of investments. The first part of investment yields 5
s

imple interest 6% per annum and the second part of investment on 10% per annum. If the total interest at the

end o
f one year is 7% per annum at simple interest, then the amount invested in each investment is:

mﬁa}wﬁ&;ﬁmﬁﬁm? 10 oooamﬁ%sr%mmﬁagﬁéwwm“ﬂm 6% A Y W IR syry
“@Tﬁa‘ﬂ%mm 10% Sfrar hi o & |TETT ST WRAT R, ﬁt@aﬁ%mﬁtﬂ}mm 7% SR

SIS T ITH R R, A eken Frdv o e o rd iy 2 o
(&) %6250:¥ 3750 B T7500;% 2500‘"
© =700 ) 3000 (D) T7300;% 270Qﬂ
(E)  Questipg not attempted / AN T v
Which two signs should be interchanged in the following equation to make it correct?
20+5+20x8-20=38
(A) ‘andg (B) +and x g
(C) -and i) (D) +and x m
(E)  Questipy not attempted
mmﬁwm%mwmaaﬁﬁmmﬁw
20+5+20%8-20=38
) -3 . W)+ seom»_og%zzj@
—AR+A0-5L YL+ N x 2oxXY+
C((:gi SR T 5 P ® - 2;; iy Lo
Which of thegdgllowing View shows margins and the rulers? o
(A) Norm4KView (B) Review X3
' ™
Page @Jp (D) Page Layout -wl
(E) Questig# not attempted
Freafofiae i 6 a1 g (o) W o e (Ralers ) i &2 ﬂ
(A) Ama (Normal) = B) R (Review) ‘
(C) U 92 (Page Setup) (D) U AL (Page Layout)
(B) ol ws ;g ,
Which amopgythe following keys is used for checking grammar and spellifig in M.S. Word?
o v 5 A Garentor St et srie 36 fore Feferiad 3 & o shoft 1 SRIRT e ST 2
(A) F7 :'; B) F9 Do - ;@
© F3 0 D) F>5 g -
(E) Quesfich not attempted / C RG]
Which of the following is an output device?
(A) Joystig (B) Mouse Lo
© Keybg;’d (D) Speaker m’ tSye-3 2o
(E) Quesfioh not attempted
ﬁwi%«rﬁaﬂﬁ‘ﬁ ¥ a7 3T feasd &7
~(A) srmﬁzm v(B) WRH
«©) Hae (D) v
(E) aiaws

[ P.T.O.
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N30

Which is not the key vision area of Digital India Programme?
Choose the most appropriate option from below: bty
(A) Promotion of behavioural changes of citizens
(B) Digital infrastructure as a core utility to every citizen
(C) Governance and service on demand
(D) Digital empowerment of citizens
(E)  Question not attempted
a1 Feforeat < wriswm w1 e gfy A ¥
5 4 & e suges foeren
@) T SR e R g
B) e e 3 o w wive 36 3 fefireet i @i
(C) Tt wfdw i fente (i @ s aik dam)
D) wiiEht w1 fefee axrbiar

(B) IgaRawx

What is the minimum quorum required for a Gram Sabha meeting under the Panchayati Raj system?
(A) One tenth (B) One fourth

(C) One sixth (D) One eighth

(E) Question not attempted
TSI TS ST o & ATH BT oY ok o6 T STTervarsh =7 Hiet Fm 27

YA) T T (B) UHENTR
(C) Sadi | (D) HATSHT |IT
(B) aia sy

Which one is not an initiative under “Skill India Campaign™?

Choose the most appropriate option from below:

(A) Industrial Training Institute (B) Pradhan Mantri Kaushal Kendra
(C) Pradhan Mantri Jan Arogya Yojna D)
(E) Question not attempted -

“FTT T AN & iarla s dt ggat T8 22

Skill Saathi Counselling Scheme

ﬁnﬁﬁwﬁmﬁmaﬁ

(A) Enfie Shreor deom B) S R ¥
~NC) Tl S SR FeET (D) v ameft wafem by

(E) fuRa &

Which of the following is not a Rabi crop in Rajasthan?

(A) Rice (B) Wheat

(C) Barley (D) Mustard

(E) Question not attempted

e 3 Freferfian § § s ot wae @ #2
~A)  9Ed ®) W

© (D) @l

(B) IFARad

Ris) @ 7

[ P‘T-O



\Q ‘PPP’ in terms of Gross Product stands for
(A) Public Partner Price
(C) Public Privgge Partnership
(E)  Question ntifiattempted
Wm%ﬁaﬁ ot ot o> o7 37ef R:-
(A) wESS *Iﬁjw T (Public Partner Price)
B) +F wifwe HHT(Purchasing Power Parity) '
(C) wrasien fsft st TfigRi(Public Private Partnership)
(D) FAAGRE HA(Purchasing Power Price)
(E) AERaw

—32  Arrange the follogying words as per the English dictionary and find the secong)vord:
SIS TToTIT 35 GG FrrReTRara sl o TR it iR AT FER 9 ) o .

' N

., ® Purchasing Power Parity
(D) Purchasing Powergice

151428

charity, carton, ca‘t@an, cardigan 2qvq bl
) Cardigan g (B) Carton el
(C) Caravan(¥) (D) Charity N
‘...l

(E) Question nf)—t'attempted | FTaRa 94

What number from the following options will come in place of ? in the given series?

A syoft 3 Frerfiafiaa forepedt o & i Ht e 7 & T o T <t QZQZ' ¢
IR B 00 37
\GA)%}/?% o B) 125 ® 5%
(C) 81 5;,‘ D) 75 N F

=
(E) Question nogattempted / R o o

—s4  After interchangidg + and —; 8 and 7, which one of the following equation befpmes correct?

+aﬁt—aﬁwsﬁ‘k7aﬁmwﬁ%mﬁﬁ%f@aﬁ#ﬁqmwﬁwuﬁ%ﬂ?
9 Q'X?_-GLBCﬁ (B) X8-7+3x5=35 7{1;3-?%

>3

BK) 8x2+7-6= Y- M=
+6.-9 =25 X 1-{t+9=18 hny ) 6+8x2-7=0

A S }(‘c’i]—/g’mﬂ:{saw N 4~ ¥ 2480

(E) Question @0} attempte d ‘ (~ |utB 20 o0

1 sum ofkhoney amounts to ¥ 7,464 bfter 4 years and 29,856 aftef)® years on compound interest.

35 A certai
The value of surjts: N
e Ffara SRR, R ST T 4 S o AR 7,464 R g Il F AT 29,8§€raﬁﬁ%,;h ST 6T W &
) ¥37,320 K) B) 3732 \y ;m;?gw b ﬁl%
(C) T1,866 (D) ¥933 g =¢85, 2,392
(E) Question not attempted / ST S L
—36  Keoladeo NatioriE#¥Park is located in which place of Rajasthan? <
(A) Rajsaman (B) Barmer g
(C) Bharatpur(yj (D) Dholpur o~
(E) Question if6¥ attempted <
oo T aﬁ e o v W R R R
(A) TEHE o B) R -
T€) WAl (D) AR
(B) gaRa s
[P.T.O

R15] @



d Which is the fastest train in India?

(A) Vande Bharat%‘press (B) Shatabdi Express

(C) Gatimaan Expt&s (D) Duronto Express g
(E)  Question not mpted o
T S T TR T e e 2 S
W) R e T ® W e
©) wﬁtrnmhq“‘: (D) T ﬂ
(B) Iqufawx

i{ The Supreme Courtgqs ordered the Rajasthan Government to shut 68 mines operating within a 1 km
periphery of the critiQg tiger habitat of which tiger reserve?

(A) Ramgarh VishdXari Tiger Reserve
(C©) Ranthambore ¥1ger Reserve
(E) Question not aEgmpted o, |
e AT TR ST Y e a1 v 3 et e o ¥ | fﬁtﬁa‘?ﬁwﬁaﬁ‘ﬁ o8
WE ! §F H 7 AR AT
A) T fawurd s e
(C) Wik

84

“(B) Dholpur-Karauli Tigd?Reserve
(D) Sariska Tiger Reservg

(B) AR FAA TR o

®) ufeEmaeRied T
(E) JIquRaws oo g
%, P f e bt & o
@A) for — ® =g =
) == I ©) frga )
(B) Irqaf@yy ' 4
M FHRE T T T Frfifed 3 w snf A A
@A) s o B) —H g
© wm P @) 00
(E) gaiays oy 3
N D S R—— .
@ w-sfm T (B) - 3RR ~
©) - D) - fe -
(E) SAguRawxd
R frafafed ¥ sagevaTas wdam 2
(A) 9 ;’; ®) # <
0]
© = @ ~D) 3 "
(E) orgaf@wsyr N o
jt*\ Choose the most appEPriate English word for the given word: <
BIRSICE) Te ' ',3
(A) transfigure v (B) transgress I

(C) transcription (D) transcontinental

(E)  Question not attempted

Rls] @ 9

[ P'T-O,
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45

~48

Choose the most suitable word to complete the sentence given:

A person who settles disputes/disagreements is known as an
(A)  Ascetic B)

Altruist
(©)  Arbitrator (D)  Anarchist
(E)  Question not attempted
Choose the most appropriate word opposite in meanin-g to:
CHIVALROUS
(A) Brave (B) Gallant
(C) Discourteous (D) Defiant

(E)  Question not attempted

On which date second stage Rajasthan Union (Present Rajasthan) was formed?
Choose the most appropriate option from below:

(A) 30" March 1949 (B) 17 March 1948
(C) 25" March 1948 (D) 18% April 1948

(E)  Question not attempted

TSI W (FA9 TS) 1 qu =T o fofer oAt mifs gemm?

(E)  Question not attempted

2011 I SHTUMT & STER FrAferfaa & & Teem & o fe & s a7 ved w1 22

(A) Ut B) T
~NC) SR (D) TR
(E) IrgaRayy ' '

Which of the following statement is not correct about alluvial soil in Rajasthan?

(A) This soil contains enough quantity of nitrogen.
(B) This soil is found in northern and eastern districts of Rajasthan.

(C) Itis light brown red in colour and has a sandy and loamy texture.

(D) Itis a fertile soil.

(E) Question not attempted

o & STt Tt 3 o 8 freferfad 3 & -1 T e T @
Ap)  TE IR H ATgEIS Y THiE HAT €l ¢

B) IE TR TSR ¥ Fet U it et # 97 et 21
NC) T T EehT S AT & 3T SeHT TS SR JHE B

®) I TF IS g 8l
(E) rgafaws

RIS] @) 10

71 % & v Juge e
(A) 309 1949 (B) 179 1948
N(C) 2541948 , (D) 18313 1948
(E) SgaRawy
According to 2011 census, which of the following districts of Rajasthan has the lowest population density?
(A) Pali (B) Bikaner
(C) Jaisalmer (D) Barmer

[PT.0
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Ris) @

Which of the following is@system software?

(A) Linux Q@ (B) Excel

(C)  Power point g (D) MS word
(E)  Question not attemped
%ﬁﬁmmﬁﬁm%‘? |

W) frmw B) T (Excel)
©) W= D) wwaaE

(E) gaiawy -

Which of the following %gpter is noiseless, high speed and of high quality?
(A) Laser Printer  (\] (B) Typewriter
(C) Dot-matrix Printeg (D) Inkjet printer
(E)  Question not attemypred
Feafafed & & s ar o fifer, wﬁr%a Fe T 3R 3= TurerT TR 27
~NA) i B) AR
©) i fiiex < (D) Fefiex
(E) Iuiawy o0
Which function key is us% to edit cell contents in spreadsheet?
et i T g ) R e 5 R ot e st o e v e B
(A) F8 v (B) F5
© F2 i ®) Fs
(E)  Question not attempted / Cﬂaﬂﬁﬁ BE
1 PB (Petabyte) is equal to:- :
@) 1024 GB (Glgab@ (B) 1024 TB (Terabyte)
(& 1024 Bytes (0] oD) 1024 MB (Megabyte)
(E) Question not atterﬁ?&ed
T St (FTETEE) SRR 2y
(A) 1024Sﬂa°r(’ﬁ’ﬂa’@ (B) 1024 3. st (xmRe)
1024 STEH (D) 1024 Tt (FTraEe)
(E) SR g
Which of the following injspreadsheet is a method of arrangmg the data in ascending’d,
(A) Logical operator gg (B) Filter

(C) Sorting o (P) Auto Sum

(E) Question not attem?)'ted

ﬁqﬁ@aﬁﬁﬁm%ﬁzﬁmaﬁ AT T aaﬂﬁmﬁwaﬁuamaﬁ@wm

W) iR AT v (B) ]:T;T
(©) AD) ST
(B) Afaid ¥

11

15142884_ 15142884 15142884

15142884

%,Dr descendmg order?

> @)
N
"~‘.1‘

[ P-T.O_



54  What is the full form of “EEPROM™?
(A)

Electrically Eragable Programmable Read - Memory
B)

Electronically Erasable Programmable Read - Only - Memory
©) Electrically Erasable Programmable Read - Only - Memory

(D) Erasable Electrically Process Read - Only - Memory
(B)  Question not attempted

“EEPROM” ®I [ xq 2. -
(A) Tl S T de 3

(B) TR R e O et it
QR e it 8 st A

(D) TS A N T et Ao
(B) rgaiawy

\Q Which day has been declared as the ‘National Space Day’ in India?
(A) 27 August
(C) 23 August
(E) Question not attempted
Feafafaa a8 ra e wrama 8 s Siafer fiaw =ifta forar mar 2
~4) 27 A (B) 20 3R
(©) 233 . D)
(E) Sgaiawy
~s¢ frmfafaa & g fofad wrea 2
wa e
by oRE s gl
c. qﬁ‘ﬂTﬁf
d.  EEt
< €. THIS :
3 R e freredt # @ waifares Iugw SR AT
(A) FadA b, ¢ 3 d (B) Facia,b3Wc
<€) Faea,c3iite 7 (D) Fadb,d3Ne
(E) agaﬁa;a '
sy ﬁw%%aﬁga%%ﬂam%- . o ‘
) @@m@ - W) AT@FHF AT TGATE]
(C) FE A wvd & Gl &l (D) FyH ST AR
(B) STgaRa v -
~sg ¥ FmT e e o @
(A) T @B) T A |
(©) T TEr (D) it &A=
(B) gaiayy

R151 &) . 1

(B) 20 August
(D) 25 August

25 AT



Which : :
8 ich of the following statement is most appropriate about the Himalayan Rivers?
(A)  They flow through the fixed course with well-adjusted valleys.

(B)  Nature of flow is seasonal and dependent on monsoon rainfall.
(C) Catchment area is very large.

(D)  Their place of origin is plateau.

(E)  Question not attempted

Temerdt Jfest & ait & Freforfen 3 & H-ar o wad Suge 2

¢A) I WWﬁmﬁamﬁﬁ%mﬁmqﬁﬁm%

(By  TE bt iepfer et & i wrereht et ox e et 21

(C) S & 9gd 9T R

'Q)) T I5H TI TSR Bl

(B) Srmiawsy

6% When the primary tributaries of a river flow parallel to each other and secondary tributaries join them at right

angles, the pattern is known as .
(A) Dendritic (B) Trellis
(C) Centripetal (D) Radial
(E)  Question not attempted
ot T R T e WET A, T g S g s 8 3 fieftar wrerre ket s wwpior € et

B, A U T hY ShaT SITaT 8:- -\c}::' tz‘:
© :‘Hﬁaﬁﬁ < (D) T
(E) Igaiawyd

61 Choose the word most similar in meaning to the underlined word in the sentence:
The acerbic remarks of the boss were unwarranted as she had put in a lot of effort in preparing the presentatioﬁ.
(A) childish (B) whimsical _
(C)  bitter (D) appreciative
(E) Question not attempted
62 Choose the word most similar in meaning to SPURIOUS from the options given:
(A) considerate (B) soiled
(C) incessant _ (D) unauthentic
(E) Question not attempted ‘ ;
63_ In which generation of microprocessor ‘VLSI’ chip (32bit) is used?
(A) Fourth (B) Firft
(C) Second (D) Third
(E) Question not attempted

TR aE i R A 5 ot o A’ ﬁﬂ&ﬁawmﬁmﬁmw%‘?

) =@ _ (B) WM
© fadm @) T
(B) orfuid ¥4

13
R1
1@ l'P.T.O



\Q Whose discipgwas Dhanna? | ;’)
(A) Dady Iyal it (B)  Kabir 54
(C) Pipa NN " (D) Ramanand N
E)  Question, ot att i
attempted e
T o Ry oo Tg)
(A) =g zaTer B) F ~
O) diw (D) A=
(E) ) < o
\6§ In Rajasthan,(gserting a gold nail in the middle of the teeth by a woman isggalled:-
(A) Baari Q0 (B) Damna @
(C) Borla ™N (D) Choonp N
E®) Questi?t_x’not attempted g
TS 3, FoRfymfe gr st 3 ofver 6 < e e e Tg
A) st v (B) AT v
(C) R ©)
(B) gafawy
66 Choose the @st appropriate word to complete the given sentence: ;g
I was delig the present you gave on my retirement. on
(A) for N (B) from N
(C) about=M . - (D) with -
(E) Quest L? not attempted E

67  Choose the mast appropriate word fr.om the options to complete the givensgg'ntence.

Despite her illness, she insisted _____ going to work as she had plenty of pending work.
(A) to B) on
(C) in = _ ®) for =t
E) Questi@ not attempted g

~68 Which of the following text 1ts composed by Jambhoji? &~
(A) Alakh Qfiranjan 3 (B) Mukam wf
(C) VishnaDharmaprakash (D) Amavsya of Fai%%n
E) Que‘stianot attempted p
Frer it & 2 T (Text) STt gRT TFa 22
(A) 3eg fisH ﬁ) TRt ]

~O  fong ECEEasl | ) STHCRT T By
(E) gaegs : @
69\ Who was theist person to call that region ‘Rajput;ma’, which is now kno%\é as Rajasthan?

A) Georg%od (B) George Abraha&éﬁ
©) Georggj homas (D) George Alexandeg
(E)  Questitfinot attempted Yy
36 8 Y TSI e aTer e s fh i & R st troreenr e s &2
(A) SNdE B) S 3wER
(C) st o D) i T
(E) Ajalawy

R15] () 14 [P.T.0



. - Which of the following is not an exothermic reaction?

7\

(A)  Decomposition of calcium carbonate to calcium oxide and carbon dioxide
(B) Formation of slaked lime on addition of water to lime

(C) Burning of natural gas

(D) Respiration

(E)  Question not attempted

= 5 5 v S Nﬁm(exothermw reaction) T

(A) meﬁmmawwmﬁm
(B) = A I ST W I i1 fomior

(©) sr@i%ssﬂqwa%q

D) &&7

(B) Sgaiaws

Which of the following is not an allotrope of carbon?

(A) Graphite - (B) Diamond

(C) Hydrocarbon : (D) Fullerene

(E) Question not attempted

o & R T HIE FT T TREY (THART) T &2

(A) IEE )

~C) TIESEEA (D) @ﬁﬂq

(B) gaiaws -
The Rising Rajasthan Global Investment Summit 2024 is being organised in
(A) Jaipur (B) Jodhpur
(C) Ajmer (D) Bikaner
(E) Question not attempted
TR TSI Teileret TS |idE 2024 F1 A FfFmsrwre
(A) AR (B) SEX
(©) - (D) ST
(E) IguRayd
The Calligraphy of the Hindi version of the Indian Constitution was done by
(A) H.C. Mukherjee (B) Vasant Krishan Vaidya

(C) Nand Lal Bose (D) A.V. Thakkar

(E)  Question not attempted

WIfier wfereT o Rt weehtor &1 gere EGuERIRRIE N

A) T E et (B) &~ T I

(C) TEaAaE (D) U . IFRT

(B) SAFARawH :

Who is the present (as on 01 September, 2024) Chief Minister of Rajasthan?
(A) Bhairon Singh Shekhawat (B) Bhajan Lal Sharma

(C) Vasundhara Raje (D) Ashok Gehlot

(E) Question not attempted

e & a9 (01 Rdwar, 2024 3 f&) e @ &2

A) N fiie dEmd By~ ¥ e T
(C) T TS (D) i Tl |
(B) fuRa 5=

15

R15 ] .
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7S

If ‘PARK” is coded as “5394°, ‘SHIRT" is coded as ‘17698’ and ‘PANDIT’ is coded *532068" then how

would ‘NISHAR' be coded in that code language?
A PARK® 1 5394’ “SHIRT %) 17698" aﬁt‘PANDIT 1 4532068’ Ffea AT SITaT & @ ‘NISHAR® #t

W%wﬁmaﬁ%a%mwn : S
A) 6734 =
@ Cilrge P i
(C) 261789 : 231954 N
P D) <
(E) vQuestion not attempted / IaRa 9 L"Fﬂ
)
Find the missing number (?) in the Table: v
e S wre (7) k-

2dot [ 6 o

4 (N7 2 - r
8 s | 11 o
q.i | -~
301|434 | 2 <
- v v~
@) b ®) 15 N
v~

~Q 16 (D) 17

~I8

e
(E) yQuestion not attempted / TR I4

L

Whl(;{ pue of the following water bodies separates the Andaman Is@nds from the Nicobar Islands?

(A) ‘%.rablan sea ' B) Gulfof Mfmnar
©) “’50 Channel D) 10° Cha‘lgel
m

E) Questlon not attempted

ﬁq%f\gﬂﬁﬁﬁ#-maaﬁm mﬁvmﬁmﬁvmﬁwm%‘z

(©) 8§ A ~D) 10° éqz?g
< ‘
r?ﬁﬂlt?‘l T v g
Post- 'Igiependence of India how many states of Rajputana (Presquf Rajasthan) were elevated towards the
L
Indian Union? lﬂ
maﬁwm%mwmm @ﬁﬂﬁﬁ@ﬂ)ﬁmm&qmwﬁmﬁagﬁgq
Chooglhe most appropriate option from below -
" .

(A) '2‘? ®) 17

© UI.B
(E) Questlon not attempted / mﬂﬁ 4

¢
1514288

RI5] @ 16 [PT.O.



,79\ The executive powers and functions of the Governor are:
a. All executive actions of the Government of a state are formally taken in his name. q
b.  He cannot seek any information relating to the administration of the affairs of the state an
proposals for legislation from the Ministers.
c. He camfmake rules for more convenient transactions of the business of ai;ate Government.
d.  He appoints the Chief Minister and other Ministers. (5
Choose the most alfpropnate answer from the options given below: 0
(A) b, aandconly ‘ (B) a,bandd only N
©€) b, canddogfx (D) a,canddonly ot
(E)  Question natattempted 'l'g

a. mmﬁwmmmmﬁﬁmmﬁwﬁ%ﬂ
b. Rm%wﬁmaﬁéaﬁmww%m%aﬁﬁwﬁﬁﬁmﬁm
N

Hehd |
c< %mm%w%muﬁmm%mﬁwwm%
" a%‘n@mﬁaﬂtmnﬁq’raﬁﬁwm%l Lo
ﬁmmﬁmﬁﬁmmma‘% b
@A) FAADb, a 3c (B) FIdAa,bdd o1
Q) Wb,caﬁﬁ (SD) FaeTa, c3Md Ly
B) SAgERawH =i

Read the passage carefully and answer the questions that follow:- (Q. 80 to 84)

Astg‘ma is a&i%;spiratory disorder that we have known about for hundreds of years. However, there is

still no_cure althoug?; drugs, such as sterojds, and inhalers can alleviate the symptoms-ofan asthmatic attack,

and there is still norknown cause. Worryingly, the number of people who suffer froff asthma is increasing
rapidly. In some cGuhtries in the world the disease is becoming more like an egdemlé@

Because of T hug huge increase in the number of cases in the last 30 years, there IS ﬁ widespread feeling
that some kind of | %Mange is to blame. Since asthma 1s.a disease which i 1m_pa1rs breathing, many
researchers have tho ght that a reductlon in air quality rmght have caused the increase,in it. However, it is
now thought that although the pOl]lLthIl in the atmosphere might exacerbate the conditiop, it is unlikely to be
the cause of it. ‘

Fora considegable time, household dust mites were thought to be a possible cause of the ¢
attempts to keep these to a minimum m have not reduced the numbers of asthmatic sufferegs. Far

Now researghiers are looking at diet to ﬁnd the culprit. The period over which¢asthma hag increased
dramatlcally in séide countries coincides with a period when there have been major! changes in djet ;
countries which h&W seen the highest rates of i increase. It was first thought that some kmd o\f: dietary a]) y
might be a major Fictor. RS ey

At the mome t, researchers looking for a dietary trlgger for asthma are cons1der1n
antioxidants could be responsible. Their possible protectlve powers have been much dlSC SS
with other disegses. Now, doctors are wondering if a diet rich in things known to conta
antioxidants, such as fruit and vegetables would prevent asthma, especially if such a diet
pregriant women.

Meanwh.nle e schoo]bagS of more and more children contain an inhaler
notebooks. Somethmg at school could trigger an attack and they must be prepared.

ondltlon but
from it.

Whether a 1ack of
ed in conneCtl()n
0 high levels of
was fOIIOWed by

!3753 well ag bOOks -

i 3

88\ The us;L of ste;mdg.gpd inhalers for asthma is to: i;f’
(A) intensify it pe (B) heal i‘t -

(C) relieveit LY (D) cureit vy

(E)  Question nat-dttempted To

R15 17 v
] & [P.T.Q,



81

84

87

For a long time it y,

it is unlikely tq be the cause of it: b

A 5 .

EC) Wrong dletary habits "' (B) an unhealthy lifestyle
(E)) the poor aj; quality (D) insufficient exercise

Question Dot attempted
Identify the Statement which fo,

(g) Dietary allergies might be a major factor.

(B)  The Pollution in the atmosphere probably exacerbates the condition.
EC) Household dust mites were thought to trigger the attack.

D)

A diet deficient jn antioxidants may be responsible for the condition.
(E)  Question not attempted

Which of the following is not 1j
(A) Air pollution
(©)  Dust mites

kely to trigger an asthmatic attack?
(B) Cigarette smoke

(D)  Fruits and vegetables
(B)  Question not attempted

Match List-T with List-II

List-I (Words) - List-II (Antonyms)

a. alleviate L assuage

b. impairs .  aggravate

c. exacerbate . leisurely

d. rapidly IV. repairs
Choose the most appropriate answer from the options given below:
(A) a-IV,b-ILc-II,d-II B) a-Lb-Ic-m,d-1V
©) a-ILb-IV,c-Ld-I - D) a-OLb-IV,c-Ld-II

(E)  Question not attempted

‘FEMIE’ H dfy feee 8-

(A) S+3gME ~B) IT+E
(C) e+ : ‘ (D) 3T+ 3NE
(E) uia ya ‘
‘fose o1 afey fasoe -

(Aa) o+ ®) f:+3=
© fr+3z @) H+3z
(E) sigafa v

fFrefefiaa # i sgshife anma o Iametor 76 &2

A) frvf - (B)  ue
(C)  wrswaThor - D) e
(B) rgafiayd

TR & F-G1 G R?

@) fa | ) oo
(C) IrEivE ' . D) =

(E) rgaia 94

R15] @& 8

cuses on the newest possible cause of asthmatic attack:

as believed that although one of the following might exacerbate the condition (asthn,

[ P.T.



89 Horizontal comﬁﬁhent of earth’s magnetic field at a place is 3.2 x 107> Tesla; and angle of dip is 60°. The

&

resultant mtensq,y Pf earth’s magnetic field at the place is - . ’
WWWWW 8 T RIS T 3.2 x 1075 3t & ST N7 60° %l 3G T QR qeaft 3 R

et Y TR e 3 - ; ol
&) 128105 ® 32x10°T '
(© 16x10°T : D) 64x10°T
(E)  Question not attempted / ITATa 9 <y
Which mirror wﬁi show a wide area view? w
vl ‘ : a0
(A) Paraboligmirror (B) Plane mirror o
(C) Concave rror (D) Convex mirror
® Questlon“ﬁ(%t attempted :;;
fortr wrepT 36 oy B ST & fareania gvr et W ST 27 | vt
A) wEEREmE (B) W 0T
Q)  EqE g D) ITATIT o
® s &

91\ The correct sequence of different steps of polymerase chain reactionis - ¢y
(A) Extenswﬁ-i—) Denaturation —> Annealing (B) =~ Annealing —> Deﬁahlratlon — Extension
© Denatura,gon —> Extension — Annealing (D) Denaturation —> Argnealmg — Extension

(E) Questlon-ﬁot attempted Ts)
diefioe sigerSirar § i el e adi s - 4
(a) frear =S Fifswor - whifm B) TR — fiftsor — wER
©) fifsor — war — whiv @)l o wf > R
®) ogoRavE o
92\ Blood groups in%zlman population is an example of ?i
(A) 'Aneuploiéwﬁ : (B) Co-dominance «
(C) Incompletddominance (D) Pleiotropy ol
(E) Questlonﬁét attempted ’ Ly
TR REEE ST L
(A)  srgforar (B) §E -
(C)  3Tqut svIfaraT (D) wgIfeEr <
®) amﬁ?rsrj‘ ég
93  Find the incorrgst match from the following: oy
(A) Ring WOI{miEptdermophyton £ (B) Elephantiasis - W.#al. ayi
©) AIDS-Re JVII‘US D) Pneumonia-E.his@jética
(E) QuestionlAdt attempted |
frer ¥ 4 ST o G T R SR AR G o
A) e (foram) - TewiEEeT ®) Erful (fersieRm)- sy, wremn
@) TSH (AIDS) - G @) ffer -3 fReifie
() oFINayH '

R15) @ 19 [PTo,



95

\96

97

Select the bacterial species useful as single cell protein (SCP).

(A) Monascyg Purpureus (B) Spirulina

© Methylophitys methylotrophus (D)  Trichoderma polysporum
(E)  Question not attempted

Wsﬁmmﬁww%qsﬁmﬁﬁmm(scp)%mm%l

(A) T TFg wrosfag B) Rgelerr

©)  FrrseierEeT framseigieg D) grHISHl dichERT

(B) rgafeaysy

Select the seeds that are 100% pure and their bag is tagged using golden yellow colour :-
(A)  Breeder seeds (B) Nucleous seeds

(©)  Certified seeds ' ' (D) Foundation seeds

(E)  Question not attempted

maﬂﬁmwaﬁﬁqaﬁ100%§aﬁﬁﬁaﬂtﬁrﬁéw$}gmqﬁﬁw$r%nmw%:-

(A4) T (sftey) st B) T sk ol (fforereTa )
(©)  wwIfore sfrsr ) (D) MR (M) i
(E) rgaiawy

2Mg+0,—>2MgO

In above chemical reaction, the Magnesium metal is

(A) Displaced (B) Reduced

(C) Oxidised (D) Dissociated

(E) Question not attempted

2Mg+0,—>2MgO

s Ferferar Tt ST ¥, AR g B

A) foenfya B) AwERE

(©) ifdipa ®) frifE

(B) Igaiass

Which of the following statement is incorrect for a chemical change?

(A) A colour change may take place. (B) A gas may be evolved.

(C) Heat may be produced but never absorbed. (D) Sound may be produced.
(E) Question not attempted . ‘
T T giEd & fore et & @ 9 |1 e w2

NA) T fREd & aar 2l

\B) T Il 8wt )
YC) T 3o 8wt & g ST e oft e et 2

D) @&y 3e 8 gadt &1
(B) AR g4

[PT.



% Honeybee culture is caljeq.
(A) Lac culture

. (B) Silviculture
(C) Apiculture

(D) Sericulture
(E) Question not attempted

YA TTE Y T STy 2.

(&) O (ATE) Fe ®
C€) Uiserx o)
(B) ITaRawx

The name of global satellite-based navigation system developed By the United States is
(A) GLONASS ®) GPS

(C) Galileo ©) BeiDou
(E) Question not attempted

T (US) SR forehfra ot reft fres suwre - smaria aren (Aferrer) soreft s AT R
(A) ’Fﬁ'dm(Glonass) B) GPS
(©) NN (Galileo) (D) 2 (Bei Dou)
(B) gaRaws | :

100, Which one is the correct lens formula?

(Here symbols have their usual meaning)

fRdddvFa@t g R d?
(TR Seftent st AT Farfi oref ®)
1 1
(A4) 17=17—% (B) 7=7+%
1 1 1
(C) %=%_.lll_ (D) T=_';—7

(E) Question not attempted / agﬁﬂﬁ 99

10\ Choose the most appropriate English translation of the given sentence.

TR AR ?
(A)  She is weeping why? “®) Why she is weeping?
(C) Why is she weeping? (D)  She why is weeping ?

(E)  Question not attempted
1% Choose the most appropriate reported form of the given sentence:
He said to him,”Is your name not Robin?”
(A) He asked if my name was Robin.
(B) He inquired whether his name was not Robin.
(C) He asked if the name was Robin-
(D) He said that wasn’t his name Robin

(B)  Question not attempted
21

1 @ [P,



193  Choose the most appropriate option to fill in the blank:

When my friend came touddl i
i bormwedg lect hler books, I was a little embarrassed as I onlg)bne out of the five
(A) have read o0 (B) read @
(C) willhaveread N (D) hadread N
(E) Question not attem’fif d <
104 Choose the most appropr’idfe option to fill in the blank: .
The police officer stoppe%ii}as and asked us where : :ﬁ
(A) we were going (B) were we going
(C) are we going ~P) we are going
(E) Question not attempted
105 Choose the most appropgi%te passive construction of the sentence given: g
" Everyone knows the factl“s‘;c")f the case very well. o

(A) Everyone knows t{@,‘:facts of the case. (B) The case is known to everyqng very well.
(C) The facts of the case:are very well known. \@) Everyone is known to the faets of the case.

v (E)  Question not atterppted =
~J06 Match List-I with List-Iy , Ty
List-I (Indian player) List-II (Associated sport) v~
a. Mirabai Chanu i. Gymnastics
b.  Dipa Karmakar ii.  Weightlifting
c. Hima Das iii.  Archery g
d. Deepika K i iv.  Athletics
Fit-1 1 e -1 %‘*%?“m &%
w1 (TR Reeeh) -1 (EEfa @59 o
a. T:ﬂ?“\ b i ot wf
b, EATHEAR i, VR i
c. fwmsm iy il et Tg)
d. Ao AR v, Tl v
Choose the most appropriate option from below:
iy o & g Iuges e o < Hi:
(A) a-ii, b, c-1v, d-iiiq, c@) a-i.v, b.-.iii, <.:.-_i, d-.ii B
qC)  a-iii, b-iv, c-ii, d—iw QQ) a-i, b-ii, c-iii, d-iv (va)
(E) Question not atterppted / FId 9 _ o 0
{97 India delivered the first gopsignment of ‘Brahmos Supersonic Cruise Missiles’ to which country?
(A) Bhutan < (B) Nepal <
(C) Bangladesh 4 (D)  Philippmes S
tion not atterapted
e o Frergel ot e e 3 ey .
@A) weH > (B) AU
(C) SR D) |
(B) IEATH oy . . s .
168 Which Indian player wo&ﬁronze medal in the R2 Women’s 10m Air Rifle SH1 evefiQat the Paralympics,
2024. (n 8] D
(A) Deepthi Jeevanji 0\ (B) Mona Agarwal N
(C) AvniLekhara = (D) Bhagyashree Jadhav 3

tion not attemnpted . .
gr?f%«fﬁ%ﬁo?ﬁmu%mlovﬁamm SH1 wqut & fere sl faetret 3 sy v St 2

A) st | (B) T ATETH
(C) 3y (D) TP STer
(E) 3faRa ¥4

RIS] @) 22 . [ P.T.O.




@\ ‘VAIBHAV” Fellowship Prdgramme is implemented by which Department of Government of India?
(A) Department of Revenue (B) Department of Science & Technology
(C) Department of Social Justice (D) Department of Economic Affairs
(E) Question not attempted

AV e Hrler T a3 R R gro sratfaa R T

(A) TSt favmr @) o wa stenfirht fanam
(C) wmio = fasm (D)  Ffieh AT & o
(E) STIaia w
141)7 The main components of dettol are -
(A) Chloroxylenol and Terpeneol (B) Chloramphenicol + Glycerol
(©)  2-3% solution of iodine in alcohol (D) 0.2% solution of Phenol
(E)  Question not attempted
- e wsi-
(A) TR T 2Rl ®) R + et
(C) TehIEa & AR & 2-3% frem (D) Tt &1 0.2% foem
(E) ARG
MY Select the most appropriate statements about human insulin.
a. Human insulin is made up of two short polypeptide chains.
b. Two chains are A and B chains.
C. Two chains are o and Y chains.
d. Pro-hormone contains extra stretch of C-peptide.
€. C-peptide is present between two chains in mature form of human insulin.
Choose the most appropriate answer from the options given below:
(A) a,b,dandeonly (B) a,candeonly
(C) a,bandeonly (D) a,bandd only

(E) Question not attempted
A G & G 7 g8 ST o T 94 -
qﬁaw%wé’r@ammnﬁamwﬁm%l

6

a.
b. a‘ra@mAaﬁtBa@m%u
c. arHEAN o IR Y SiEAN Bl
d. ¥k TN (NEH) 3 C - Y215 F1 TR @ue/gwe 8t )
Fﬁ-ﬁqsgaﬁmaﬁ%mqﬁmwfrmsaﬁﬂﬁwﬁwaém%l
ﬁﬁqmﬁm}ﬁﬁwﬁmmwaﬁ
(A) FacTa,b,d3Re (B) Fada,c e
(C) Fada, b3ile (D) Fada,bad
(E) Igaiasd

L2, The literature which is engraved on inscriptions, coins and seals is called literature
Choose the most appropriate option from below:

(A) Traditional (B) Folk

(C) Epigraphic (D) Regional

(E) Question not attempted

g wrfeea St frerat, freeh! qe getl T 3hiot giaT ¥, AT FHaermar /)
e & & wad Iuge fadea 4

(A) wOuE (B) dh

(€ T (D) &

(E) Agaiays
Ri15] ) 23

[P.T.O,



\13 ‘Languriya song’ is rgjﬁ;ed to which god/goddess?
(A) Shree Mahaveegn) :
(C) KailaDevi @
(E)  Question not atfgpted
ATRET T for YRt & et 27
(A) i aeER Ty’
N©C) Femdh i
(B) IrgaiayH
4. 114 Choose the odd one of'from the given options.
@ ﬁqmﬁaﬁﬁ&u@ﬁmmwaﬁ:-
(A) (13,195182 N
—~O) (7,67 4o :1'_'
(E) Question not at{ﬁapted / 313?&3 9K
THg

Pinki scored more thatRakesh. Yami scored as much as Dimple and Lalita scor
an Yami and Manju scored less than Dimple. Who scored the least-ainong the given persons?

(B) Jeen Mata

(D) Khatu Shyam ;
%0/
N
B) SftorATar :3
D) T L0
i
w
®) (11,1431 é‘g
@ .35 Jo°
o

E;}less than Manju. Rakesh

scored more th
(A) Manju (B) Rakesh
© Lalita o0 (D) Yami -
(E) Question not #émpted o R
Ry 3y T & ren S e e e Forerer 3p e ARy i e e R o e Y el & A
aﬁtﬁqﬁ%maﬁ%mﬁ@ﬁ&%@mﬁmﬁm%@ .
~o wrmr ®) o 10
() aiass i) | |
16 Pointing towards a gitign the picture, Sunita said, “She is the mother of Neelarﬁ1 aoé%&\leelam s father is my

\K son”. How is Sunita &ked to the girl in the picture? g
(A) Mother - in - ngg ®) D.aughter o
(C) Niece <ft - (D) Sister (::!

i tretnpted a3
a(zﬁt gﬁ;ﬁgﬁ&ﬁ%;mmng_im ‘%Wﬁq@ﬁ%@aﬂ%ﬂﬁ%&wﬁ?%w g
’ ’ 9 . o \ 1 Py
%@rma@ﬁtﬁa@%wﬁzﬁv s [} Ny
~—~@) 9 (B)
(©) wishAst < (D) &
(E) SERad o0 o :%
‘H{ Which one of the follgging is not a viral disease’ 5 ADS o
(A) Influenza < o e o
© Typhoid ! 3
i d
(E) Question not at€ipte . .
’ o e PO St QT A &7
f:ﬁij@ (B) T (ADS) e
. (D)
(C) TEHES S
313?1’{'&' 4

> 24 [ P.T.O.
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\1{8 Which of the following is not a space mission launched by ISRO?
(A)  Space-shuttle programme (B) Chandrayaan

©) Mangalyag (D) Aditya-L1

(E) . Question ey attempted 3
BT 8 0 a8 (1RO v et v sy Ry e 27 0
(A) m@m (&g w1ew) (B) AN N
© W i © @l
(E) ¥gafea v LN
14  The main function of a GPS system is: e
(A) Space expl&;ation (B) Weather forecasting
(C) Navigatioggnd positioning (D) Satellite imagingw
(E)  Question A8t attempted 0
St . T (GPS) et w1 v e 2 0
(A)  ictear s ® e
) AreFar (i) i R w5 adr s ®) smE@lm
® eha v - LN
130 S el T i e 7 o el g safRe e et 3 R e o @ v et e v Evfto
(A) m%% B) e o
<¢) o Ty (D) IR o
(B) wgaia wic | Vel
1%, gE-1R g @gﬁ%aﬁﬁq o
el (3 3 R wreT) weht-1n (ﬁa‘rm@}imm)
a.  ABRIDGE . TR —
b. ANNEXURE I §&vor Te)
c. AMENDMEN 0. e i
d.  ARPROVAL IV.  Gue '
Frar e e forsrgld # & warffares suges swoafiu -
(A) a-ILbiM c-IV,d-I ~B) a-I,b-TLc-BAd-I
©) a-Iv,bS;c-m,d-n . (D) a-Ib-IvV,c-@W d-1
E) oetE sy - .
122 ‘Acknowledgerhéht’ T fét TaiaT ghm- v
@) wvm T ®) @ LN
(C) uradt @) fomfwa ™ .
E) rERa v
12% If 12 boys or 18%15 can do a certain work in 14 days, then in how many dayc%\vill 8 boys and 16 girls do the
same work? N\

A 12 ASH 1AV 18 TSt et e+ 14 ﬁﬁﬁqgrwm%,a’rsag#c% 16 TSRt Seft o 3 fapery
fori f qr i <
(A) 13 v ®) 7
\C) 9 ®) 1
(E) Question not attempted / STRA T ‘Lié

RIS] (D) ) 2% )8 /6 25 9Ly e X [P.T.0,
Y o —%X QQ
. 9 '

¢ (35% |




~124 Inatriangle ABC, AB = BC and length of AC is J/2 times the length of AB. If the perimeter of AABC is
(14+7 ﬁ)cm,thentheareaofAABCis- .
wF B ABC #, AB = BC 3t AC # @, AB & @ % 2 T 1 IR AABC F IR

(14+7ﬁ/§)ﬁﬁﬁ. R, A AABCH §TheAR - - -
(A) ,3“—2‘ cm? (B) 59 cm?
(©) 522 cm? (D) 69 cm’

(E) Question not attempted / 3TN I
\1\2'5 Tropical thorny forest is found in which of the following regions of Rajasthan?
Choose the most appropriate option from below:
(A) Kota (B) Udaipur
(C) Jaisalmer (D) Baran
(E) Question not attempted

ST HR &, T ¥ frefafad § & fFw & § e €

frer it & wrar Juge e I
(A) I (B) IR
© S () R
(B) HATaRa 5=
\1\26 “Kolayat lake” is situated in which of the following place of Rajasthan?
(A) Churu (B) Bikaner
(C) Udaipur (D) Ajmer -

(E) Question not attempted

“aﬁmsﬁﬂ”’m%ﬁn&ﬁgﬁﬁﬁﬁwwﬁﬁm@

A T @B) R
(©) S (D) 3
(E) AN TH

"7 Babool, Khair and Khejri species of trees are found in which of the following forest lands?

Choose the most appropriate option from below:
(B) Montane forest

(A) Littoral and Swamp forest
(D) Tropical Evergreen forest

© Tropical Thorny forest
(E) Question not attempted

CE) @raﬁt@ﬁ@mﬁ%q&ﬁq&rﬁﬂﬁﬁ%ﬂm & & T T &7

oo i & wrard FUT o T
(A) aﬂﬂaa’ﬁﬁﬁm (B) EdE T
<0 o7 HICAR I (D) IS TR o
E) Sraa Td
i 26 SR [P.T.O.
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dia?
. ing state of I
kzs - The temperate forests called ‘Sholas’ are found in which of the' follow1ng
> (A) Tamil Nadu (B) Punjab
(D) Odisha w3t

(C) Ra %S%lan =

(E)  Question not attempted _ o0

et e =, i 3, e oy oA A TR

(CVLLENGIS ® <

©) TRA (@) I :},;

S Nﬁ‘f&fwsr d? i

‘1439 Where is thejPublic Servxce Commission of Rajasthan located

(A) Alwar (B) Ajmer

(C) Jaipur (D) Jodhpur <

(E) Quéstion not attempted o0
Uil Ei'%i ST AT e fere 22 \B oo
A ) N
©) wgf, (D) EE f‘u | l
(B) I A ). fa Constitution

\'50 By which éénstitutional amendment the Urban Local Self Government wﬁ‘_{élven the status 0

Institution¥ ¥ et
(A) 42 Constitutional Amendment (B) 44" Constitutional Amendm
© 74‘h,tgpnstitutional Amendment D) 734 Constltuvgal Amendment

(E) Quexbon not attempted
mmﬁ%mmmmamﬁ@ﬂmmwaﬁﬁﬁw

(A) 42@éﬂ1ﬁ$mﬁm (B) 44at Gauf-eh.HET
(C)  74iEaEfeh GemaT (D) 7331 GIFRERTEA
(E) gaf wH RS B
~431 Panchayatﬁ(aj is a system of: i
Choose the most appropriate option from below: A
(A) Rura&.Local Self Government (B) Local Govermxent
(C) LodaDAdministration (D) Local Self Gd¥érnment
(E) Qué:sz'ﬁon not attempted 0
qama?mrgﬁs &I T 3] g
P wre Jugw fres T -
) T T e B) v g M)
(©) e e ) e
(B) SAuRayd
\131 The conce?f‘of ‘Directive Principles of State Policy’ in Indian Constltutl?p«was borr
(A) Amegigan Constitution (B) German Cons m_; fion owed ﬁom\
(C) IrisiiQonstitution (D) Japanese Consifution :
(E) Queﬁi’on not attempted ‘\"\?'
Wt e ral
(A) STy % Hfoam | (B) HERHR @W%'
k} Jrrafer dfoems (D) SUR% qﬁmq
(B) raRa ¥y
RIS] @ 27
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\133 When did the Portuguese take over Goa?

W%Wmaﬁwm%m
(A) 1526 (B) 1506
©) 1510 D) 1518

(E)  Question not attempted / AR W5

\K}4 Which one among the following is not a salient feature of the Indian Constitution?
Choose the most appropriate option from below:
(A)  Universal Adult Franchise (B) Lengthiest Written Constitution
(C©) Dual Citizenship . (D) Integrated and Independent Judiciary
(E) Question not attempted
Frafafea ¥ @ s« Wt i it v e forsear 78 &
Freafefa 3 & e sges faore 9t -
) aehitfie s Tafter. B) TR o frfad @iy
) Ed AwhEHar @) ThiEwa IR o= AR
(E) gufawy ,
135 When was the ‘Agnipath Yojna’ introduced by the Government of India?
(A) 14 August 2022 B) 15 July 2021
(C) 14 August 2021 (D) 14 June 2022
(E)  Question not attempted
I TR GRT A 15T ey e 7S off?
(A) 14 37T 2022 ) 15 e 2021
Q) 14 IRE 2021 A S(i) 14 57 2022
(E) SAgaRayy
136 FrmfcRad & i < srer e wrs 7 &7
a) ¥ (B) g
©) == D)
(EB) SAORaTH
<137 Sk weg A fafea s @
(@A) @ | 8 =
®) FaRaTA
138 gef-rge & g AR
“c:iﬁ‘l (ITT) @-H (QM)
2 W L WS
b. wd L g
. T o g=m
4. fie Iv. i
A g et & @ wraffere I S R
( a-Lb-Mc-MLd-IV M) a-IV,b-M,c-II
(©)X a-1V,b-T,c-MLd-1 (D) a-I%-Mlc-1Iv

(E) SFaRa
28
R15] @
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139 A bag contains coins of 50 paisa, 25 paisa and 10 paisa only. The ratio of number of coins of 50 paisa,
25 paisa, and 10 paisa is 5:8:3. If all the coins in the bag amounts to T 144 then the number of coins of
25 paisa in the bag are:
T ) 3 et 50 4, 25 % 3w 10 90 3 Ry 1 50 43, 25 3 30 10 ¥ 5 Rt o W By g 5:8:3 "
1R Ak e R o e € 144 8, 801 25 i s e o s B 20! B 7T

2
(A) 280 : ®B) 150 %:A %5 19,
240 D) 260 < 7{%'0 1—1—3:'
(E)  Question not attempted / Cﬂﬂﬁﬁﬁ bt %Y;% Y /’2‘

440 Six numbers are arranged in decreasing order. If the average of the first five numbers is 40 and the average
of the last five numbers is 30 then the difference of the first and the last number is:

T T T s 3 e e 4f el ute e @ s 40 & 3R it g gl 1 SiEd 30

3 el 3ie et S v Sia - S 4o
A) 90 ® 25, ¥ S0 /%
«Q 50 @ 75, 30 8
(E) Question not attempted / TR I 4o 30\; Sy S
¢l Match List-I with List-IT DN s =
List-I (Characters) List-II (Contrasting Traits)
a. Flower color I Green/ yellow
b. Pod color II.  Violet/white
c. Seed shape II. Round/wrinkled
d. Pod shape IV. Inflated/ constricted
Tt I geft-11 4 Faferd Hife :
| geft-1 (forsream) Teft-IT (Frredt 77om)
a. U L e
b. weA T 0. SHasg
c. SN AHR m. e /grfier
d. &l 3R IV. %ol g8 Rrdigd
Choose the most appropriate answer from the options given below:
9 e fwedt # & gaffas sags s
(A) a-Lb-Ic-IV,d-1I A®B) a-Ib-Lc-IV,d-TI
© a-ILb-Lec-OLd-IVY D) a-Lb-Ic-ILd-IV
(E)  Question not attempted / STITRA ¥
\{2 The Thalassemia gene is present on
" (A) mitochondrial DNA (B) XX of 23" pair of chromosomes
© XY of 23" pair of chromosomes ' (D) an autosome
(E) Question not attempted
e < o gafeer g
a) "EIFFER AT (B) 23 TRANIFXX
(© 233 ISR F XY (D) T Afei g (e ¢
(E) 3@?&3 9T

e | ' [PTQ,

RIS] ()



143  Select the Francis Hary Compton Crick’s Ph. D: thesis title-

(A)  Semiconservative DNA replication model, (B) X-ray diffraction: polypeptides and proteins
(C©)  X-ray diffraction: nucleic acids

(D) Transformation in Streptococcus pneumonia
(E)  Question not attempted

mﬁa%ﬂmm%ﬂ@.ém%vﬁhwwﬁmz- ~
®) Wit @) X . defiesede sl
© XX felkam: e uire (D) IS &
(B) IEfaws oy - <
\l{i The remains of Gane8Kwar civilization are found at which place in Rajasthan? ¢4
(A) Hanumangarh_‘“"f (B) Bhilwara Ly
(C) Neem ka Thana . (D) Udaipur i
(E) Question not z;ttempted
O AT 3 ST T 3 Foy o g7 7 39
(A) TAMTR gy . (B) icEre ;’;
NC) Fmwmam @ - O =|R o
(B) spuRaws & o
\]{15 Who was the foundet_'i oﬁ’ the Chauhan Dynasty of Ranthambhore? =t
: Choose the most apprépriate option from below E;
(A) Veer Narayan i3 (B) Govind Raj ™
(C) Hammir U (D) Prithviraj III
(E)  Question not attempted
TR 5 ST S97 o HeTae B 99 <
e & & wa suges fea -
(A) FRARET o B) T oy
© wHR 0N (D) RIS - III =¥
® otays | 0
46  Match List-I with List e
List-I (Folk art) List-IT (Material)
a Kavad L Paper
b Phad II. Colour =¥
c. Paane :% . Cloth . g
d. Mandana: IV. Wood o
o e & g i =
eI (eiy wem) elt-I1 (e “'m“
a. ) . ﬁl:r{ : o
b. o
G . g o
d IV. d&et 6’8
Choose the most apﬁﬁ%ri'ate answer from the options given below: O
A g e el 4 8 rarfares sages s e .
(A) a-ILb-IV,epll,d-1I \B) a-Iv,b-Tlc-1,d- [y
(€) a_ILb-I,C-‘lY,d-I]] D) a-Lb-M,c-1I,d - rvM
(E) Question not %ﬁtﬁmpted / 3133‘&?[ il i

RIS] () 0 : [P.T.0.




Mz. Which ministry launcheq the ‘Capacity Building on Design and Entrepreneurship (CBDE)’ program?

(A) Ministry of Home Affairs (B) Ministry of Finance

(C) Ministry of Education (D) Ministry of Defence

(E)  Question not attempted

o Ty 3 ¢ %ﬁmaﬂtwﬁmwmﬁmmaﬁ:ﬁ% » sprelshe ST (A=) fovem?

(A) TR @B) e
(C) TRvam vrery (D) TTHATE
() SaRays |
148 What is the theme of World TB Day-2024?
(A) ‘The Clock is Ticking’ ‘ :'(B) ‘Yes! We can end TB’
(C) ‘Invest to End T.B save liveé.’ ’. Y (D) ‘Wanted: Leaders for a TB-free world’

(E) Question not attempted
ﬁqaa&mﬁﬁmﬁwzoumaﬂwo@i%W)w%?
(A) =9 @ R (T FlT 5 A
®) &, & & ot wew ww i | o A a2
© FdfrEwFas RefRTst St ST (37 2 U Seft e e
(D) =fed: &t g forg & fow e (@e: et BR T At - hr aed)
(B) gafEawy

14% If PQ || RS, then find the value 9fa+b+c
I PQ || RS, @t a + b + ¢ T 0 19 it

! 2
e s L
‘S
>\, £
Re- N &
>
(A) 280° . (B) 180°
(c) 270° (D) - 360°

(E)  Question not attempted / TTARa ¥4

150 If m and n are the roots of the equation x2 + px tq =0, then what is m? + n2 equal to?

e m aﬂrn;xz+px+q=0m%q§%ﬂ}m2,tpzﬁﬁagﬁmﬁ?

A) p*-q B) pi+2q
Tw®) Pty D) p*-24
(E) Question not attempted / 3¥qfd ¥4 '
RIS] (@) 31 | [ P.T.O.

+%2~41+Pi*q
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